ﬂi‘ Divisioni sulla linea numerata Nome:

Usa la linea numerata per risolvere ogni problema. Il primo ¢ un esempio. Risposte
1) 1, 0 1 2 3
/3 :3 3 3 3 3 1
[ 1 I I :
I 1 I 1
2.
2) 1, 0 1 2 3 4 5 6
/6 14 6 6 6 6 6 6 6 3
I I I I I I I
I I I I I I 1
4.
3) 1 0 1 2 3 4
. = - = = = 5.
/4 14 4 4 4 4 4
I I I I I
I I I I 1
6.
49 1, 0 1 2 3 4 5 7.
/5 12 5 5 5 5 5 5
I I I I I I
8.
9.
5) 1/ .9 0 1 2 3 4 S 6 z
7 7 7 7 7 7 7 7 7
I I I I I I I I
I I I I I I I 1
6) 1, . 0 1 2 3 4 5 6
/6 12 6 6 6 6 6 6 6
I I I I I I I
I I I I I I 1
7 1, 0 1 2 3 4 5
/5 14 5 5 5 5 5 5
I I I I I I
I I I I I 1
8 1, . 0 1 2 3
/3 PS 3 3 3 3
I I I I
I I I 1
9) 1, . 0 1 2 3 4
/4 :3 4 4 4 4 4
I I I I I
I I I I 1
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